Addi » “momials

ldensify as a momsis
1 Sayz

, binomial, or trinomial,
3.a-2b+ 3¢
6x-y+2

L.x+2y

4xtey? 5.23

State the degree of each monomial,
7255 8. 25xiy?
10, 2x%y’ 1, =5xlyt

9. 17
12, =6xytz

State the degree of each polynomial.
13, 52y’ + 3xy?

W 3xr+2y-5z

152+ 2x) +3x1+ 4

Bodxty? « 220y8 =23

17.32 - 2y + 2?

Simplify.

8. (Sz+6=328) + (4 -T2+22%)
9. (3x? + 2)/2 -5)+(4xt+ 3y2- 11)
20. (25 + 7x =52+ 3) + (220 =7)

Add,

M (Sxt+Tx=7)+(4xt-8x+12)

2. (3y =8y +3)+(2y?+8y-9)

. (md e Smi+ed)+(dmi+7)

26 (P rxsd)+(21~6)+ (2 -2x-13)

Simiplify.

25 (4x2+ 3y - 2y%) + (=2t = Sxy + Ty?)
6. (Syt+3y=7)+(-2y'=5y+8)

u Oxly -2+ 4yY) + (5 +)))

Subtracting' Polynomials

Write the opposite.
L3 =2x-3
4-3x1=7x+2

Lxl+d4x+1
3.2 +x~§

Subtract.
5.(3x-5)-(x+2) 6.(x+5)~(3x-1)
L(x+4)=(=x=3) 8. 3x=5)-(x+4)

Subtraa.

9. Sx?+3x-§ 10.-3x+ Sx =7

2x3=5x -4 Qxt+3x-3
M,=4xli=4x+3 12,00 =5x+ 1

~3x!+4x-8 yi-Sx+6
1Boxi+7x~] W, 1227+ 3x2 =5

! +4x+ ] 9xl+4xi-4x

Suberaa.

15 (2y  + 3y =5) = (2y* + 4y + 6)
16. (452 +5-2) = (=351 +5=5)
1 (yl=Sy+3)=(=2y'+7y+5)

Subtraa.

18. 320+ 7x =3 from 2xt-2x+3
19.5y3+ 7y =5 from =2y}+3y-2
20, -1+ 5t -1 from 2rt+3e+6

Simplify.

. (=Snt-n=-8)-(=-2ut+7n=3)
N (442 =20 = (3-721 4 5x)
B (-2 +4r-7)= (30 +41=2)
WU (2P +5x+3) = (=at=Tx+11)

. (Bmt+Tm=8) =(~m+m=1)

36, (=5yl+ Ty - 12) = (=3yl + 4y =2)
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Adding Polynomials

* ldentify as a manomial, binamial, or trinomiul.

J.8=-2b+ 3¢
6x-y+2

1. Sxyz
4xi+y?

2.x+2y
5.23

Staze the degree of cach manomial.
1.25x 8. 25x%y?
10, 2%y} =53yt

9. 17
12, ~6xy'z

State the degree of each polynousial,
13. Sxlyl + 3y}

4. 3x+2y-52

15. 00+ 22 + 321 4 4

16. 4xty? + 22y - 23

1735 =2y +2?

Simplify.

18, (S2+6-328) +(4~7z2+23)
19. (327 + 27 -5) + (4t + 3y = 11)
2. (254 + T2 =527+ 3) + (220 -7)

Add,

M (5xt+7x=7)+ (45t =8x+12)

2. (3y' -8y +3) +(2y' +8y~9)

3 (m+Smi+3)+ (4md+7)

U (P rx+3)+ (2 =6)+(x2=22-13)

Simplify.

25, (453 + 30y =2y)) + (=xt = Sxy + 7y%)
6. (Sy +3y=7) +(-2y* =Sy +8)

. (3xly =23y +4y)) + (s¥y + %)
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Subtracting Polynom

o
%

Write the oppasite.
Lxl=2x-13
4-3xt=Tx+2

Lxl+rdxsl
5. 28 +x-§

Subrract.
5. (3x=5)=-(x+2) 6 (x+5)-(3x=1)
L(x+4)-(-x-3) &.(Jx=5)=-(x+4)

Subtraat,

9. 5x'+3x-5§ 10.-3x3+5x-7
xl-Sx-4 dxl+3x-3

o-dxi-dx+3 12.x0=5x+ |
“3xl+4x-8 leSre 6

1. P+ 72 -1 14, [2xP+ 3x?=5x
rledr+l 9x)+ 43t ~4x

Subrraa.

15. (2 + 3y = 5) = (2y} v 4y + 6)
16. (450 +5=-2)=(=3st+s-5)
W (y2=5y+3)=(=2y'+7y+5)

Subtraa.

18350+ 7x=3 from 2x'=2x+3
19.5y3+7y=5 from =2yl+3y=2
20.-¢4+5¢-1 from 2t'e Yt v 6

Simplify.

M (=5nl-n-8)-(-2u'+7n=13)
2.(4+2x-xt)=(3=72t+5x)
W (=4 dr=7)=(3ed v 41=2)
W (24 Sx+d)=(=x=7x+1l)

B.Oml+Tm=8) = (~m'+m=1)
3 (=5yl+ Ty =12) =(=3yt+4y=2)
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